3 (Sem-1/CBCS) ECO HC 1

20109

ECONOMICS

( Honours )
Paper : ECO-HC-1016
( Microeconomics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
" for the questions

1. Answer the following as directed : 1x10=10
wote TP ot PR Tes fim -
(a) Define a household.
o e
(b) What is producer’s surplus?
TAMT ©F8 f$ 7
fc) Mention one feature of capitalism.
| 9B CafiEr Sead 91 |
{d) What do you mean by price rationing?
Price rationing feicet f& g&m 2
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(2)

(e) Define marginal productivity of labour

= E1fF SRemmeTe Sige oy |

(f) Fill in the blank :
SIETRIER U
MRP;, =MPP; x__ .
(g) For a Giffen good, income effect is
Giffen good-3 9I¥ 91 2’
(i) positive

0)

(3)

How does technological innovation affect
the supply curve?

RfEre wIREE @M @R R geite
A ?

2. Write short answers of the following
questions : 2x5=10

oo SPICRE Y e A -

(@)

What is meant by property rights?

3 oifie g3 o 3o ?
(i) negative
- (p) EB=X-Px+Y" P,, where B represents
i money income of the consumer, Py and
(iii) constant P, represent prices of goods X and Y
fom respectively, find the slope of the
equation.
(iv) Both (i) and (i) «f B=X-Py+Y:B, W, TS B T4
T (i) A (i) SorsIoE WE, Py ¥ By T4 G® X WF Y
T4 W, HAFIACOH O ST |
(Choose the correct option)
(u=m ﬁﬁzﬁ]qﬁ%fgmm ) fc) State two exceptions to the law of
demand.
(h) Why is the a
U-shaped? verage cost (AC) curve w2 fafRe 751 e fora |
oM I (AC) G U-1f7 23 g 9 (d) Mention two government policies to
(i) Defi i enhance competition in the market.
efine o .
PR aRe dfecfer Ifa SR <[ H vReR qfS
R TeE A |
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(4) : (5)

[

(e) Point out two characteristics of labour (d) What is cross-elasticity of demand? How

market. . ; do you infer about the nature of two
goods on the basis of cross-elasticity of
LEEEReRTRSREREEN demand? 2+3=5
e fofs fREfegrme 7 o fofe
3. Answer any four of the following questions : ffowrrror fofes 11 T a3fs e sigam
5x4=20 RE1?
ToR 2Add R GIe BiiRoE Ted B

(e) Explain how an income-consumption

: . : f a consumer consuming two
fa) Discuss the basic economic problems sl

i ived. S
faced by an economy. c products is derived
o1 WEA Tegel T SISl qET -
9 SIS R Y KA TR Topcslsl @1 e FefT 0 =, TR0 90
GO 4T |
() Explain the various factors responsible
(b) Briefly explain the principle of for the shift in the demand curve of an
diminishing marginal rate of individual consumer. S
sEbsf:itut‘iogl.ffWhat role dois it play in FfefRom Toreed siftn QW BARRS 4
shaping in urves: =
ping iiference c 3+2=5 N .
TP eifoPand Aifes = MO b3t wrm
I e @ fors 2 f ST 2z 4. Answer the following questions : 10x4=40
o S 2PART e feidl
(c) Distinguish between bar diagram and ' (a) Discuss the scope of Econornics._State
histogram. 5 the basic assumptions of Economics.
6+4=10
e fbq W BRI A1 el 41 SR AR el 9 | SR 5
SfSRECITE 31 |
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(6 ) -
(i)
Or / =7
productivity thEOrySSofI the  marginal Show the trade-off between work and
s ot labour. 10 leisure at different levels of wage rates.
AfE BeeAT ey Why is the labour supply curve backward
STEQCEIAET | =T bending? 6+4=10
Afer ToRY TRe T e AR eiRer

m@fmmmﬁmfwwwm?

(b) Explai
xplain the beha\"iour
cost is the

°f a profit
(d) Show that average

the short
-run.
IIIEA T b B | IO ) 5 o ¢ combination of average fixed cost and
69 AT 4T | T AfSEg average variable cost. Write a note on the
slope of the average variable cost curve.
or / w2 Also explain the relationship between
average cost and average variable cost
E]?it;:guish between direct tax curves. 4+3+3=10
imposfttio taxt.‘ Show the impact ancliﬂ RYsT @ T® 7 2 % B9 W AE 90
n 0
B e sales tax on market o T R | T RIS T
HOrF 9 WF oA hreri S ofﬁamz%iﬁﬂz éim\; grin?mﬁw
Wemﬁﬁwgmﬁ;ﬁw (i | or / 9%l
8y s g
<7 |
(¢) E ; . Discuss the rationale behind regulation
p:;ialr;- how price effect of ch : of monopoly practices. What role do
o oI a good can be Hecon Elnge: in antitrust policies play in monopoly
me effect and subg tltutionpoz?d into regulation? 7+3=10
€liect
<ol : 10
TR T ARG 7 Roes osion Ry gl AR JfEEel S
waﬁs@qﬁmwﬁﬁnﬁ P T Ry =1 «Iofem IPE FEETO PT- R
> IR0 <647 | . TARGIE & SRl o8 ?
20A/575 * Kk
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